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Note

g :

HOME SCIENCE
PAPER - II

¢ [Asi-
qy-II

:This paper contains FIFTY (50) multiple-choice assertation/reasoning/
matching questions, each question carries TWO (2) marks. Attempt All

questions.

AL YA (w0) aglaiselly usdl, ARlg w1 Assi sieadidl usedl

9. MM MWasdidl el avall §. Uds wsdl & (R) e B,

The food group that provides

maximum calories is :
(A) Nuts and Oil seeds

(B) Sugar and Jaggery

(C) Fats and oils

(D) Cereals

The cooking method that involves

electromagnetic radiation is :
(A) Roasting

(B) Microwave

(C) Pressure Cooking

(D) Grilling

Evaporation technology is used in

the preparation of :
(A) Sugar

(B) Flours

(C) Milk

(D) Cheese
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Which of the following tests is not
used to evaluate iron deficiency

anaemia ?

(A) Serum Ferritin

(B) Serum homocysteine
(C) Haemoglobin

(D) Serum iron

Higher amount of flatulence sugars

are present in :
(A) Fruits

(B) Vegetables
(C) Soyabean
(D) Wheat

Bacteria possessing highest

probiotic properties 1s :
(A) Bifidobacterium
(B) E.coli |

| (C) B. subtilus

(D) Mycobacterium
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The WHO cut-off for anemia

(Hb levels) in pregnancy is :
(A) 11 g/di
(B) 12 g/dl
(C) 10 g/dl
D) 7 g/dl

The micronutrient deficiency

leading to loss of 1IQ is :

(A) Iodine

(B) Copper

(C) Iron

(D) Iron and Iodine

Hepatic coma is due to :

(A) high level of ammonia in blood
(B) low level of ammonia in blood
(C) high level of glucose in blood

(D) low level of glucose in blood
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10. Which one of the following is not

11.

12.

an antioxidative enzyme ?

- (A) Catalase

(B) Glutathione peroxidase
(8 Sﬁperogide dismutase
(D) Glutathione red.uctase
A good manager is one whp :
(A) Constantly supervises
(B) Keeps records properly

(C) Interferes with work of

subordinates
(D) Delegates responsibilities
Briefing by a Supervisor is an
activity :
(A) to pass on required instructions
(B) to Write the records
(C) to supervise quickly

(D) to check the rooms
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13.

14.

In menu planning the important

factors to be considered are :°
(A) Cost of items

(B) Skill of the chef

(C) People to be served

(D) All of the above

Which will be the best form of

institutionalized care for infants ?
(A) Educational centre

(B) Family day care

(C) Play centre

(D) Preschool centre

In an old age home the most

important aspect/feature is :

(A) understanding a caring staff
(B) Recreational facilit'ie.s

(C) Excursion Programme

(D) Income generating plan
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16. Dacron is the trade name of : 16. S5 25 UM 2l 9

(A) Nylon C(A) Ui

(B) Polyester B) A

@y Acryli
W Serglhe ©) AEdls

D) Acefate
D) flee

17. The quickest method for pattern
17. e AlBaAl 2 »sdl ugla & -
grading is :

A) Usua ugla
(A) Radial method

| (B) Ay ¥+ s ugla
(B) Slash and spread method

(C) Nest/Stack method (C) -=efxs usld

(D) Vector method | N D) 4522 Ysld
18.. Dyeé used for protein fibres is : 18. Ml did@ul Hie auRidl siq :
(A) Acid dyes A) »dls SIA
(B) Discharge dyes (B) sl sy
(C) Direct dyes €) sluise Sl

(D) Basic dyes

D) Gfls sy
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19. Amitabh Bachchan is a Brand 19.

21,

Ambassador for :
(A) Park Avenue
(B) Reid and Taylor
(C) Raymond

(D) Mayur

20.

To finish the edge of a concave of
an inward curve with a true bias

strip :

(A) Slightly stretch the concave

curve

(B) Slightly stretch both the bias

and the curve
(C) Slightly stretch the bias

(D) No stretch on any piece at all

A fibre having a strong affinity for 21,

water or moisture is called as :
(A) Hydrophobic

(B) Hydrophilic

(C) Oleophobic

(D) Oleophilic
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99. Scientific study of human body  22. ¥idd-dl AlILs HLU-L datll+s

measurements is known as : ey 1A UHISL s 89
(A) Anthropometry (A) ﬁ?ft‘fl‘:{ﬂ

(.B) Anthropology | (B) lvldi

(C) Geometry (C) wuindl

(D) Trigonometry D) Zleu-Aiagl

23. International Trade Centre has  23. ¥dRAUIU AR 3 A4 st-tl

banned the use of : quzla Buz ulaeig g&lﬁ 9 -
(A) Acid dyes A) wls sy
(B) Azo dyes | (B) ol sl
(C) Direct dyes (C) sise s
(D) Basic dyes (D) odls sy
24. The first manmade ﬁb.re is : 24. Al uuy Hisd 5el dldgll
(A) Nylon (A) ~lUdl
(B) Rayon o B) W ®
(C) Polyester | ) Udloie: 8

(D) Acrylic D) Aldls ©
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25.

217.

Fibre that is extensively used for

technical textiles is :
(A) Acetate

(B) Wool

(C) Acrylic

(D) Polypropylene

Effective management is best

concgived as a :

(A) System

(B) Series of actions
(C) Process

(D) Resources

Mundel’s Class-II change is

associated with :

(A) Change in habits.

(B) Change in product

(C) Change in body motion

(D) Change in work area and

equipment
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28.

29.

30,

To resolve conflict in group decision

the following can be done :
(A) Compulsion

(B) Prosecution

| (C) Compromise

(D) Request

The standardization mark on gold

jewellery is :
(A) ISI

(B) Hallmark
(C) KDM
(D) Ecomark

For deciding the door height the
following anthropometric

measurements should be

considered :

(A) Average height
(B) 5th percentile
(C) 95th percentile

(D) 90th percentile
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31. Creativity includes : 31, AFAUAHSA (HFAUBA) i AHFad

(A) Convergent thinking A) 3lead [z adl

(B) 13(z31d [aaLR il
(B) Divergent thinking

(v vLod)
(C) Reflective thinking %
(C) HrucHs [Qar Adl

(D) Uncommon thinking D) ualel R Adl

32. In behavioural view language is  32. adrilcts gResial (adH aaeir) 3o

acquired through : oty (1A Wl eunl llvl ¢
(A) reinforcement and imitation (A) 530 id Wiclsrt glrl
(B) deliberate teaching (B) ucil (2&sL gLl

(C) cognitive maturity (C) oifds Yeddl

(D) innate capacity (D) FHAA &Hdl

. . 33. (A erdlde s curdrl Al
33. India is a signatory to :

¢9
(A) Convention on child’s rights

(A) oun sl dsiffd dddA
(B) Convention on women’s '

(B) 0l Aulddse doilad ARAA
empowerment

©) leds Rsgldl
(C) Directive principles

D) e A5

(D) Fundamental rights

Home:Sei~IT 13 | [P.T.0.]
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34.

- (A)

36.

Yaspal Committee Report deals 34

with :
Educational reforms in schools

(B) The burdenless preschool

education

(C) National open school

curriculum

(D) Issues of HIV/AIDS

35.

Puberty is a period of :
(A) Sexual maturation
(B) Delayed childhood

(C) Rapid skeletal and sexual

maturation

(D) Early onset of fertility

The most expensive teaching 3g.

method 1is :

(A) Lecture

(B) Discussion

(©) Educational Tour

(D) Demonstration
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37.

38.

39.

Home Sci.—II

The most effective experience on

social issues in tribal area is :
(A) Drama

(B) Exhibition

(C) Audio

(D) Home visits

Self Help Group Programme is

38.

mainly for. ... e development.
(A) Economic

(B) Cultural

(C) Personal

(D) Educational

The best approach to prepare

programme for non-formal

education programme 1s :
(A) Functional approach
(B) Cultural approach
(C) Trial based

(D) None of the above

15

37.

39.

SISIEINEEVERTRCR LS (Al ur
ALl MATSIRS iAMHA GLL MUY
@ i
(A) 125

(B) uesld
(C) su
(D)
Acs

(9

A Aus

Sey A stdsH v (s e

A) »UAs

(B) irglas
(C) [Edod
D) alds

AlUAR S gl silsy otlaal

GuH vl -

(A) slcs e
(B) uirglas n[oam
(C) MBS g9l

M) GuAsAHUL 519 uat el

[P.T.O.]




40.

41.

42.
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The focus of curriculum is on : 40

(A) Learning  activities in
classroom

(B) Teachers’ methods

(C) Changing behaviour of learner

(D) Subject matter

The content of adult education 41

should be :

(A) Flexible -

(B) Adaptive

(C) Suitable

(D) All of the above

The obstacle in Development

Communicatibn :

(A) More coverage

(B) Heterogenity of group
(C) Subjéct matter

(D) Noise

(&)

. Mle

42.
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43.

44.

45.

When a person knows the existance

of new idea but lacks the

information on :
(A) Evaluation
(B) Satisfaction
(C) Awareness
(D) Needs

Method demonstration are good for

showing :

(A) Procedure
(B) Objective

(C) Evaluation
(D) Reference

Panchayati Raj was established in

India following the

recommendations of a study team
on Community Development

headed by :

(A) Vinoba Bhave
(B) Sardar Patel

(C) Balwantrai Mehta

(D) Jawaharlal Nehru
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46. Theory is not explicit in the

47.

48.

following research design :

(A)
(B)
(©)

(D)

Survey method
Experimental design
Descriptive research

Quantitative research

Snow-ball sampling means :

(A)

(B)

(D)

random method of sampling

one sample leads us to our next

sample
sampling done near Arctic circle

none of the above

The following is not a characteristic

of an experimental design :

(A)

(B)

(C)

(D)

There is no independent

variable
There is a dependent variable

There is randomisation of

sample selection

All of the above
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49.

50.

The following is the meaning of

49.

validity :

(A) Face value of the measure

(B) Internal and external validity

(C) Encompasses all aspects of the

concept measured

(D) All of the above

The following is the only measure  50.

of parametric test :

(A) Sign test

(B) Runs test

(C) Chi-square test

(D) t-test
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ROUGH WORK
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